X=3 X=9 2D
im

3D

GL-1.0
-1.5m

147
Inverted Resistivity (ohm-m)
1.0 5.6 31.6 177.8 1000.0

1) =3
Z= X-Y
2D (X=3)
Y-Z 2D
X-Y-Z 3D
3D YZ  (X=3)
2D
H-B2 X-Z
50% 3D
Y-Z
2D
15%21m 3D Y-Z X=2 X=5
3D X 25mx>=7 Y
3m>=38 2D
3D

-01-



Y (m)
222120191817161514131211109 8 7 6 5 4 3 2 1 0

X=9
X=3
§ g Y (m) < § L e
: 55 e s 1600.0 -
Y-Z (X=3) [T LR
oo 2D 3D
2D 3D
X= X=
=9
X=9
2D 3D Y-Z  (X=9)
XY (=4 2D
2D
2)
X=9
X
2D X=8 X=10
Y-Z 2D
2
3 204,
281-286(2006)
p241(1998)

Y (m)
22212019181716151413121110 9 8 7 6 5 4

Inverted Resiseivity (ohm-m)
10 56 516 1778 10000

2D 3D
X= X=10

2D 3D

-92-



